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t.FIg fe followingtwotrafficnetworks with costs

A
Network 1 Network 2

Forcost it means if there are cars goingfrom S to T the
cost is equalto X Eachdriverminimizestheirown cost and we

wantto minimize averagecost Whichnetwork is better

If singledriver network 2
If 100 drivers andwe controlwheretheygo network 2
If cos drivers w freewill whathappens

With this A Bshortcut thefirst driven to take thatpath
S A B T onlyhas cost 5051 101 150 Moredrivers willtake
this route when ofdrivers reach50 the costof newpathbecomes





Two players cut and choose

PlayerA cuts into 2 pieces playerB choosesfirst

Threeplayers

ETI
PlayerA cutsinto 3pieces let B C choose

What iftheywantthe samepiece Howto ensurefairnessamong BC

Idea Hare B trim its favoritepiece say 5

to have the same value as its second favorite

Nowthere are two
favoritepieces forB

Now let C choose between Si Si Ss
Then B choosefromthe rest andA gets the remaining

A
B
C



Done if we throw thetrimming S away
whatif wewanttokeep it

147
Let's say B gets Si now we let C cut

If C gets Si we let B cut
Bchooses first thenA then C

B C bothhappy why
Before

allocatingthetrimming both arehappy
one gets to cut andone getsto chest

A lasehappy
A's out in step I already betterthanentire52
A's cut in step1 as good as C's cut

step2
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